Name:  __________________




Period:  _____

Exponents, etc 

Simplify.

1. x4 x8

2. bb2 b3 b4 b5

3. (5c6)(7c2)

4. (-8mn)(3m2n4)

______

______

______

______
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9.  (a2b3c4)5

10.  z0


11.  (x3y)7

12.  (5x3y4)2
______

______

______

______

13. Find the area of the rectangle with a width of 3a6b5 and length of 4ab2.

(Remember:  a = l(w)

14. Find the area of the rectangle with a width of 7g4h5 and length of 5g2h12.

(Remember:  a = l(w)

15.  Find the area of a square whose side is 7x6y7.    (Remember: area = s2)

16. Find the length of the rectangle if the width is 14x5y5 and the area is 28x8y8.

18.  Find the area of a triangle with a height of wz4 and a base of wz5.  (Remember: area = b(h/2)

19. The area of a rectangle is 20a20b3 square units.  If the length of the rectangle is 5a5b, what is the width?

20.  Michelle has her own business of making pies for special occasions.  The total price (p) of one of her Michelle’s pies is represented by the equation p = 0.75s + 15, where s is the number of people the pie serves.  What does 15 represent in this situation?

A.  The slope, or rate of change per serving


B.  The y-intercept, or base cost of each pie

C.  The x-intercept, or base cost of each pie

D.  The total price of a pie that serves 20

21.  The Cardinals little league baseball team wants to buy jerseys.  The Shirt Stop charges $14 per shirt plus a base fee of $25.  Which equation represents the total cost, C, of s shirts?

A.  C = 25s + 14
B.  C = 14s + 25
C.  C = 14s – 25 
D.  C = 25s – 14 

22.  Which of the following linear equations contains the points 

(-3, -18) and (0, -9)?


A)  -5x + y = – 3 


B)  -3x + y = – 9


C)  -7x + y = 3



D)  -3x + y = 3
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